Lesson 2.6C ~ Dividing Decimals by Decimals
Name__________________________________________      Period______      Date____________
Solve each problem by finding the two decimals that satisfy the given conditions.
1.  The sum of two decimals is 1. The product of these decimals is 0.25. The quotient of the two decimals is 1. What are the two decimals?

2.  The difference of two decimals is 0.5. The product of these two decimals is 0.1875. The quotient of the larger decimal divided by the smaller decimal is 3. What are the two decimals? 
3.  The product of two decimals is 0.16. The quotient of the larger decimal divided by the smaller decimal is 4. What are the two decimals? 
4.  The sum of two decimals is 1.4. The quotient of the smaller decimal divided by the larger decimal is 0.75. What are the two decimals? 
5.  The sum of two decimals is 2. The difference is 1. The quotient of the larger decimal divided by the smaller decimal is 3. What are the two decimals?

6.  The product of two decimals is 0.175. The difference is 0.15. The quotient of the smaller decimal divided by the larger decimal is 0.7. What are the two decimals? 
7.  The sum of two decimals is 2. The product is 0.4375. The quotient of the larger decimal divided by the smaller decimal is 7. What are the two decimals? 
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